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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese,

1. Answer the following questions : 1x7=7
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(a) Name the chief photosynthetic
pigments found in red algae.
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(b)

(c)

(@)

Mention the function of heterocyst.
BRTER I TR =i

Write the name of a polymorphic
heteroecious fungus.
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Which group of plants is considered as
‘Amphibians of Plant Kingdom’ ?
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Write the name of the first book
written on plant classification.
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Write the name of causal organism of
late blight of potato.
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(99 Name the component of fungal cell
wall.
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| 2. Answer the following questions briefly :
| 2x4=8
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(@) What is disease cycle ?
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(b) Differentiate between cell structure of
algae and fungi.
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(c) Write the name of primar'y": and
secondary host of a heteroecious
fungus.
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(d) Define prothallus.
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3. Answer any three of the following
questions : 5x3=15
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(@) “Viruses are considered as an
intermediate group between living and
non-living.” Justify the statement.
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(b) Write briefly about the role of
‘blue-green algae in agriculture.
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(¢) Describe briefly about the =~
ultrastructure of a bacterial cel].
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(d) Give a brief account of the advanced

characters of sporophyte of
Anthoceros,
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(e)

(a)

‘Write about the morphological nature

of rhizophore in, Selaginella.
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What are Lichens ? Vifhy are lichens
called as indicator species ? Give an
account of ecbnomié importance of
lichens. 2+2+6=10
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:Al\‘);s‘cribc the méthod of asé@d

reproduction and economic

importance of Penicillium.  6+4=10
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(b) With suitable diagrams, describe

(c)

evolution of sporophyte in bryophytes.
10
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Give an account of the range of thallus

organization in algae studied by you.
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What is stele ? Give an illustrated
account of stele found in

Pteridophytes. 2+8=10
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Define heterospory. Describe this
condition with reference to life history

of Selaginella. 2+8=10
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